* %

Addieren

Aufgabe 1 Aufgabe 2

. 4711 + 4100 = 1. 3346 + 2608 =
2. 4218 + 3680 = 2. 3867 + 2469 =
3. 2761 + 2662 = 3. 3168 + 1324 =
4. 4697 + 3685 = 4. 3336 + 1843 =
5 3562 + 2261 = 5 4965 + 3640 =
6. 3857 + 2319 = 6. 4511 + 2786 =
7. 3414 + 1749 = 7. 4044 + 3925 =
8. 41282 + 2689 = 8. 4742 + 3405 =
9. 4042 + 3012 = 9. 2633 + 1395 =
0. 2395 + 1521 = 10, 4606 + 2419 =
Aufgabe 3 Aufgabe 4

1. 3783 + 2334 = 1. 4813 + 1409 =
2. 2091 + 1960 = 2. 3510 + 2819 =
3. 4961 + 1230 = 3. 4346 + 3813 =
4. 2338 + 1893 = 4. 4866 + 2805 =
5 1772 + 1099 = 5 3988 + 3825 =
6. 4895 + 1297 = 6. 4756 + 1022 =
7. 4168 + 3997 = 7. 4987 + 1352 =
8. 2612 + 1757 = 8. 4156 + 1865 =
9. 2312 + 2077 = 9. 3841 + 3554 =
10. 3559 + 1464 = 0. 4569 + 4562 =
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* %

Addieren

Aufgabe 1 Aufgabe 2

1. 4771 + 4100 = 8 871 1. 3346 + 2608 = 5 954
2. 4218 + 3680 = 7 898 2. 386F + 2469 = 6 336
3. 2761 + 2662 = 5 423 3. 3168 + 1324 = 4 492
4. 4697 + 3685 = 8 382 4. 3336 + 1843 = 5179
5 3562 + 2261 = 5823 5 4965 + 3640 = 8 605
6. 3857 + 2319 = 6 176 6. 4511 + 2786 = 7 297
7. 3414 + 1749 = 5163 7. 4044 + 3925 = 7 969
8. 41282 + 2689 = 6 971 8. 4742 + 3405 = 8 147
9. 4042 + 3012 = 7 054 9. 2633 + 1395 = 4 028
0. 2395 + 1521 = 3916 10, 4606 + 2419 = 7 025
Aufgabe 3 Aufgabe 4

1. 3783 + 2334 = 6 117 1. 4813 + 1409 = 6 222
2. 2091 + 1960 = 4 051 2. 3510 + 2819 = 6 329
3. 4961 + 1230 = 6 191 3. 4346 + 3813 = 8 159
4. 2338 + 1893 = 4 231 4. 4866 + 2805 = 7 671
5 1772 + 1099 = 2 871 5 3988 + 3825 = 7 813
6. 4895 + 1297 = 6 192 6. 4756 + 1022 = 5 778
7. 4168 + 3997 = 8 165 7. 4987 + 1352 = 6 339
8. 2612 + 1757 = 4 369 8. 4156 + 1865 = 6 021
9. 2312 + 2077 = 4 389 9. 3841 + 3554 = 7 395
10. 3559 + 1464 = 5023 0. 4569 + 4562 = 9 131
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